
 1 

 
 

Item # | Product Name:   #300998 SLX Direct Connect to Wave Armor Dock  
 

Parts List: Tools Needed: 

1.  Top Connection qty 2 1. Ratchet 

2.  Bottom Connection qty 2 2. Extension 

3. 3/8 x 1 ½” Bolt qty 4 3. 9/16” socket 

4. 3/8 washer qty 4 4. Mallet 

5.  5. 

6. 6. 

7. 7. 

8. 8. 

9. 9. 

10. 10. 

 

Assembly Instructions 
 
Parts included. 

 

1. Align bottom connectors with the post holes at the front of the SLX Port.  Then slide them into the post 

holes. 

  

 

 
 
 
 
 
 
 
 
 



 2 

 
 

2. Insert top connection pieces into post holes and secure to bottom connections using the 3/8 x 1 ½ bolts 

and washers. 
 

 
 
 
 
 
 
 
 
 
 
 
 
 

 
 
 
 

 

3. Align front of SLX Port with dock channel and slide in until the connection lines up with the slot in the 

top of the dock.  Secure with 3/8 x 1 ½ bolts and washers. 
 

 
 
 
 
 
 
 
 

         

 

 
 

 
 
 
 
 
 
 
 
 

 
                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                  

Attach here 

Secure here. 


